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Qu. 1:- India's central location at the head of the Indian Ocean is considered of great significance.
Which of the following best explains this advantage?
a) It allows India to maintain stronger cultural and trade connections with Southeast Asia and the Middle East.
b) It places India at the epicenter of monsoons.
c) It ensures that India has the largest coastline among all Asian countries.
d) It makes India immune to natural disasters like tsunamis and cyclones.
Ans:- a) It allows India to maintain stronger cultural and trade connections with Southeast Asia and the Middle East.
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Qu: 2- The Tropic of Cancer passes through which of the following states and what is its significance to India’s climate?
A-Gujarat, Rajasthan, Madhya Pradesh, West Bengal; It marks the northern limit of the tropical zone,

influencing India's climate diversity.



B-Maharashtra, Karnataka, Andhra Pradesh, Orissa; It signifies the start of the temperate zone.
c-Kerala, Tamil Nadu, Telangana, Bihar; It has no significant impact on India's climate.
D-Punjab, Haryana, Uttarakhand, Himachal Pradesh; It affects the snowfall patterns in these regions.
Ans-(A) Gujarat, Rajasthan, Madhya Pradesh, West Bengal; It marks the northern limit of the tropical zone,
influencing India's climate diversity.
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Que 3:- Considering India's location, which of the following best describes its strategic importance in Asia?
a) India acts as a bridge between the East and the West due to its central position.
b) India’s location allows it to be the only country to influence European markets directly.
c) India's location isolates it from geopolitical tensions in neighboring regions.
d) India's location makes it solely dependent on maritime trade for economic development.
Ans- (a) India acts as a bridge between the East and the West due to its central position.
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True or False: (1111 (107 [101(:

4- The Himalayas act as a barrier to cold winds entering India from the north.True

5- The Ganges River originates in the Western Ghats and flows eastward into the Bay of Bengal.Fales
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6- The Indian Ocean plays a significant role in India's climate by moderating temperature extremes.True
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7-A group of students is conducting a research project on the impact of urbanization on the environment in their city. They
have

collected data on population growth, land use changes, and pollution levels over the past decade.
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7/1. Based on the case study, which branch of geography is most relevant to the research project?
A) Economic Geography
B) Human Geography

C) Physical Geography



D) Cartography.
Answer: B) Human Geography.
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7/2. What geographic tools or techniques would be most useful for analyzing the data collected in the research project?
A) Geographic Information Systems (GIS)
B) Telescopes
C) Radiology
D) Microscopes.
Answer: A) Geographic Information Systems (GIS)
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7/3. Considering the focus of the research project, which of the following concepts would be most applicable?
A) Environmental Determinism
B) Possibilism
C) Geopolitics
D) Environmental Sustainability.
Answer: D) Environmental Sustainability.
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8- True or False: Geography as a discipline is solely concerned with the study of Earth's physical features and phenomena.

Answer: False
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